Efficiency vs dr

r 02—
< i
©0.18f
&0.16f}---
c 1 .
q) 1 .
50.140
= 1 .
©0.128-
0.1}

0.08f
0.06
0.04
0.02fHfr:

LOf I
— DQMStep3 TT_CKF
1.2fF - | —s— DQMstep3_TT_default

Ratio

—_— DQMstepS TT_ ckalerLess
1.9 q B

| 30
107

1
TP min AR

[ Efficiency vs dr (track,jet) |

§ 0.1

0 0.09

=

o

z 0.08

£20.07

>

20.06

@

o

£ 0.05]

3]
0.04

0.03

0.02

0.0
1Q

Ratio

1.

1

1072 107
AR(TP, jet)

=
S
w

Efficiency vs pu

5 0.2¢
o r
(gols:— --------------------------------------------------
?0.16;— ..................................................
L e SRCRTE CETEPE- PP EPEED
R0 T A PR AR N

......

o

o <

[¢2]
||||||||||||||||||||||||

X171 R R F R R SR RITI I A
O S SATEE SITON SRS SR SRR
o CF :
T s 1]+
L = {--
1:—-1 -- -?p- .-
0 .LO 20 30 40 50 60 70 80

Pileup



	Contents
	Page 1


